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Problem 2.2:  In each of the following cirevits, determine the values of the indicated voltages
and for carrente.. (Voltages are in volls and currents are in smperes.)
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Problem 2.3:

For ‘each of the circuits below express the resistance R, or the equivalant

conduetance & = ﬁ at the terminals in terms of the element resistances K, (or conductanees

G, = -H’:]. Write your answers next to the circwits,
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(e} Can .t]fll-: same methods used in Parta (a) through ()} be used to find the resistance st the
terminals of the circuit below? If so, express it: if not, explain why not
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THE SAME IS TRUE FoR A TEST CURRENT

AND THE RESULTING WDLTA&?E ACROSS THE
TERMINALS . You CAN THEN SOWVE FOR THE

EQUWALENT BESISTANCE K=V
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